XEEZ

Jo— BAHBT | xgake TBOEER - RAO(x 1) EH A (me/L) KB ARMK (KBEDRAED - RABT [BEE] ma
%] [E] R5.6.1 R59.7 | R5.12.7 | R6.37 R5.12.6 R5.45 | R5510 | R56.7 R5.7.5 R58.2 | R59.14 | R5.10.11 | R5.11.1 | R5.126 | R6.1.10 | R6.2.14 %] H
FIKEFZ 9:55 9:40 9:45 9:50 11:40) 9:45 9:55 11:55 13:00 10:40 11:45 12:05 11:20 12:10 11:10 12:15 FKEFZ
*E HEh =Y (L7 & (20 (20 HEh 13 ZY & HEh =Y HEh BN HEh BN ESE
xum (°C) 235 21.3 16.6 7.0 15.5 17.0 174 21 28.8 347 26.9 22.3 239 15.6 12.0 14.8 |5 (C)
KiE_(°C) 20.3 28,6 12.2 10.1 14.54 145 15.1 20. 24.1 23.4 31.8 23.7 21.6] 13.6 123 9.8 [KE_(C)
— R E 0 0 0 0 0 100fE LT 0 0 0 0 0 0 0 0 0 0 0 3-2/A0J0~(D-D) 0.0 % R Al
b T T THH] TEs FRf| #msngnce| THRE[ FHRE[ FRE[ TRM] Tob] TRE] FeH] FHH[ FTRE[] TEel] THb 2-DPA(§'5») 0.0 BRE A
HESYLBRUZDEEY <0.0003| <0.0003] <0.0003] <0.000 <0.0003| 0.003L4F <0.000: 4-D (2.4-PA) 0.0 BREA
4| KBROZDIEE 0.00005] <0.00005] <0.00005] <0.0000! 0.0000! 0.0005 <0.0000! [ a|EPN 0.004 % R Al
5[EL  RUZDILEY <0.001 <0.00 <0.001 <0.00 <0.00 0.01 <0.00 MCPA 0.00! BREFI 0.00005
6l R UED{EE <0.001[ _ <0.00 <0.001|  <0.00 <0.00 0.01 <0.00 pEIN 0. BRE A <0.009
TERRVZDLE <0.001|  <0.00 <0.001|  <0.00 <0.00 0.01 <0.00 0.00 % R Al <0.00006
<0.002| <0.002] <0.002] <0.00: <0.002 0.02 <0.002 <0.00 <0.002 <0.002 0.0 EEL] <0.0001
[ 9 <0.004] <0.004]  <0.004] _ <0.00: <0.004) <0.004 0.00 BRE A <0.00004
[ 10 > <0.001| <0.001] <0.001] <0.001 <0.001 <0.001 <0.00 <0.001 <0.001 0.00 5 R Al <0.00006
| 11| 043 0.52 0.76 0.90 0.76 0.6 75— 0.0 BRE A <0.0003
0.09 0.08 0.08 0.0 0.08 <00 AIXHFFAY 0.00 R <0.00005
<0.1 <0.1 <0.1 <0. <0.1 <0. EOPEZY 0.00 R <0.00004
[ 1 EiRE <0.0002| <0.0002] <0.0002| <0.000 <0.0002] <0.000: 497077 (MIPC) 0.0 RA <0.0001
5[14-SAFH <0.005] <0.005] <0005 <0.00 <0.005 <0.00! 1YTOFA 5> (IPT) 0. HFE| <0.003
16 :;;1;{2_ . 735;;;;3>U <0004| <0004| <0.004| <0004 <0.001 <0.001 16|4FTzoh Ty 0,002 B <0.0001
jl BZEEEE D) <0.002|  <0.00 <0.002|  <0.00 <0.00 <0.00 7|47 AR KR (BP) 0.0 BEH <0.0009
[ 18 FrS200TFLY <0.001[ _ <0.00 <0.001]  <0.00 <0.00 <0.00 8|13/985Y 0.00i BEH <0.001
£ [Ho[ryzonzFLy <0.001[ _ <0.00 <0.001]  <0.00 <0.00 <0.00 o\ B /o7y 0.00! EEL] <0.00009
| 2[R <0.001|  <0.00 <0.001]  <0.00 <0.00 <0.00 0| TXFTOAILT 0.0 BRE A <0.0003
21[IEREE <0.06 0.1 <0.06 <0.01 <0.06 <0.06 0.1 <0.01 <0.0i IrII2FAvIR 0.0 % R <0.0008
22| OO EFEE <0.002| <0.002] <0.002] <0.00: <0.002 <0.002 <0.00 <0.00 <0.00; IOFRILTZUA VI IEY) 0.0 5 R Al <0.0001
# | 23(/0078)LL 0014 0.015 0.011 0.00: 0.010] 0.016 0.01 0.01 0.00 AFFToaARS 0.0 FREFH <0.0002
24|[SHOOEFEE <0.002| <0.002] <0.002] <0.00: <0.003 <0.003 <0.00 <0.00 <0.003 F ¥ BRE MR 0.0 EHl <0.0003
25| nEL/OOARY 0.006 0.007 0.005 0.00 0.006 0.005 0.00 0.00 0.006 F)HFAROEY 0. EHl <0.001
26|| 2 F R <0.001 0002] <0.001] <0.00 <0.001 <0.001 <0.00 <0.001 <0.001 HEXHRR 0.000 R <0.00004
5 |2Z#rNa A 0.030 0.033 0.025 0.02 0.026 0.029 0.034 0.029 0.023 AITURARO—)L 0.00: BREH] <0.00008
ol T [DPIEL: <0.003] <0.003] <0.003]  <0.00: <0.003 <0.003 <0.00 <0.003 <0.003 8[hLByT 0.0 RA <0.0008
20T 0ESH/OOAR 0.008 0.009 0.008 0.00 0.008 0.008 0.00 0.009 0.008 9| AL /3 JLINAC) 0.0 R <0.0002
30[ToERILL 0.002 0.002 0.001 0.00 0.002 <0.001 0.00 0.002 0.001 0[hL KI5~ 0.00 RA <0.00001
| 31/ L7 L TER <0008] <0008 <0.008]  <0.00: <0.008| <0.008 <0.00 <0.008 <0.008 F/9532 (ACN) 0.00! BRE A <0.00005
B | 32|#EBRUVEZDILEY <0.005]  <0.005]  <0.005]  <0.00! 0.002 0.00: En 0. A <0.003
B[ FIE=VLRUVEZDLEY 0.02 0.02 0.02 0.0 0.02 0.0 Z300y 0.0 BRE <0.0003
3[R UVZDILEY <0.03 <0.03 <0.03 <0.0 <0.03 <0.0 JUiH—h BREEH] <0.02
35(| R U ZDILEY <0.01 <0.01 <0.01 <0.0 <0.01 <0.0 TS R—h 0.0 B A <0.002
36|V LRUZDEEY 245 305 216 25. 20.7 19.1 PIEEwi=bv 0.0 BRE <0.0002
3[R AVRUVEZEDEEY <0.001 <0.001 <0.001 <0.00 <0.001 <0.00 ZB)L=FE7x> (CNP) 0.000 BREFI <0.00004
38|iE (LA 16.9 20.4 16.1 17.4 16.1 14.3 17.7 15.5 16.0 19.4 234 15.9 15.8 16.6 16.5 174 18.3 8|/0LEYHRR 0.00 R <0.00004
VAN L, T LEFEE) 98 108 112 112 111 52 61 110 106 9|~/Oo&O=)L (TPN) 0.0 REA <0.0005
f‘ ERERY 210 250 210 230 200 130 154 208 225 40 7FOY 0.00 PREEFH <0.00001
A1\ AA> 5 E <0.02 <0.02 <0.02 <0.0: <0.02 <0.0: 41|27 /R (CYAP) 0.00: &R <0.00004
2|CFRZ <0.000001<0.000001]<0.000001 | <0.00000 <0.000001 <0.000001] <0.000001 <0.00000 42|>0> (DCMU) 0.0 EEL] <0.0002
43[2-AF LRI FA—IL <0.000001{<0.000001]<0.000001 | <0.00000 <0.000001 0.00001% <0.000001] <0.000001 <0.00000 43[SHA~=)L(DBN) 0.0 BRE A <0.0003
44| I A REEMH] <0.005 <0.005 <0.005 <0.00! <0.002 0.02 <0.002 <0.00: <0.002 <0.002 44[>50)LEZ (DDVP) 0.00 %R <0.00008
45|27z /— )L} 0.0005] <0.0005] <0.0005] <0.000! <0.0005! 0.005 <0.000: 45|99k 0.0 BRE A <0.001
ﬁrﬁﬁ%%ﬁoc) 0.7 0.6 0.8 0. 0.9 3T 1.0 1.0 0.9 0.8 0.8 0. 0.8 0.8 0.9 0.9 0.9 1.0 48[ SRILREATFNFEAY) 0.00! TS <0.00004
47|lpH{E 1.1 1.6 1.5 7.4 76| 58LIE8BLLT 7.5 7.7 7.1 7.1 78 7. 7.6 7.1 7.6 7.6 75 74 AT [SFADIINA—PREE 0004] FR-BEH <0.0001
I3 EEuL| E¥GL] EELGL] REGL Bl BREchance| EF0L] BREaL] BREal] BEaL] BE¥6L] EE4L] BEF¥AL] BRGL] E80L] BE0L] EE0L] BEGL 48[SFAEIN 0.00 EEL] <0.00009
49l R EELL| B¥GL] EELGL] REGL Bl RFEchuncey| EE0L] BEAL] BRil] BE4L] B¥LL] BEE4L] BREAL] BRAGL] BE8UL] BEUL] EEOL] BEGL 29[S n\akyTTFI 0.001 EEL] <0.00006
| 50 fE < < <1 < <0.5 SEUT <05 <0.5 <0.5 <0.5 <05 <05 <05 <05 <05 <05 <05 <05 0[S =TT (CAD) 0.00: BRE A <0.00004
51BE 0.1 0.1 0.1 <01 <01 2ELT <0.1 <0.1 <0.1 <0.1 <0.1 <01 <0.1 <0.1 <0.1 <01 <0.1 <01 51[SABAR)Y 0.02 RE A <0.0002
52[SART—F 0.05 A <0.0005
B 4218 (mg/L) 53[S ARy 0.03 R 55 <0.0003
ZUFELRUVZDILEY <0.0015] <0.0015] <0.0015| <0.0015 <0.002 0.02LF w | 54|FATF/v 0.003 R RHA <0.00004
2[HSURUZDILED <0.002] <0.0002] <0.0002] <0.0002 0.0002 0.002 LA (+2) = [Ts5|54 L0y 0.8 PR S A <0.008]
3| =vr LRUZDEEY <0001| <0001| <0001| <0001 0,002 0024 F €0.002 56 ;éﬁ;",ﬁ’#’;ﬁ;;_,‘ 001| e-me-pE# | <00001
4 K| s1[z7o=n 0. i <0.001
& el=roanzhy <0.0004| <0.0004] <0.0004] <0.0004 <0.0004) 0.004 LT 8[FH5L 0.0 A <0.0002
6| % & 9| FATANT 0.0 R <0.0008
1R & 45 | _60[FATFR—FAFIL 0. E Al <0.003
H [TelbT <0.04 <0.04 <0.04 <0.04 <0.04 04 FARANT 0.0 EELT <0.0002
[ 9[DRLEES O-TFIAFIIL) <0.008] <0.008]  <0.008|  <0.008 <0.008] 0.08 TFIYNRYFY 0.00 EEL] <0.0001
& | 10| EEERE <0.06 <0.06 <0.06 <0.06 <0.06! 06T TILTHILT (MBPMC) 0.0 BREF <0.0002
Hx & — FJZBEEL 0.00 PR E A <0.0003
m | 12| -EeER - - - - 0.6LLTF FJZ B LA (DEP) 0.00 % 2B Al <0.00005
13[ynn74r=kJ)L <0.001 <0.001 <0.001 <0.001 <0.001 0.01 AT (*2) <0.001 RS 55— 0. BEH <0.001
g [ 4[fakso5—n <0002] <0.002] <0.002| <0.002 <0.002 0.02AF(*2) <0.002 FITASUS 0.0 EELT <0.0006
EHEES <0.01 - - - 1T 8|FFoR5F 0.0 PR <0.0003
= 18] BRIEHR _ 0.7 0.8 0.6 0.6 0.60 1T 0.40 0.48 0.40 0.54 0.50 0.54 0.52 0.64 0.46 0.48 0.56 0.50 9[/X5a—F 0.00 FREEH <0.001
T 1B L, TR LE EE) 98 108 112 112 111 10~100 52 61 110 106 [ [REES 0.000! B E | <0.00004
. 18| A RUZDIEEY <0.001 <0.001 <0.001 <0.001 <0.001 001UTF <0.001 71[ESZR=)L 0.0 B E | <0.001
B [Trolmamm: 9 9 10 12 5 20 72|ESVFL T 0.004 BREF <0.00004
20[11,1-fyOATR <0.03 <0.03 <0.03 <0.03 <0.03 03 73[ESTYR—=RET V- 0.0 PR E <0.0002
E | 21[AFIL-t-TFIT—FJL (MTBE) <0002] <0.002] <0.002| <0.002 <0.002 0.02 74[EVF I FAY 0.00 % SR Al <0.00004
22| EHBYE (KMnOLEEE) (* 3) - - - - 0.9 1.0 1.0 0.9 08 08 0.6 08 08 0.9 09 0.9 1.0 75|EUTFANT 0.00 PR E A <0.0002
15 | 23| RKEEE (TON) <1 < <1 < < A 76|lEo*Os 0.0 EA <0.0005
| 24[EZRY 210 250 210 230 200 30~200 130 154 208 225 77[74708=)L 0.000 R <0.00001
g |[25]BE <0.1 <0.1 <0.1 <0.1 <0.1 1ELT <01 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 78[Zz=FOFA> (MEP) 0.0 R <0.0001
| 26[pH{E 7.7 76 75 74 76 758 75 7.7 7.7 7.7 7.8 76 76 77 76 7.6 75 74 79[2x/75)L7 (BPMC) 0.0 EY <0.0003
| 271/ EBEH (G T7IER) - 04 - 03 - 06 - 08 - 05 —1~0 - 08 0[ZzU LYY 0.05 Al <0.0005
28| (e IR E T M E (HPC) 0 0 0 0 0 2000LL 0 JI2F 4~ (MPP) 0.006 TR <0.00006
20[1,1-/ARTFLY <0.01 <0.01 <0.01 <0.01 <0.01 01T <0.01 IR I—F(PAP) 0.007 TS <0.00007
30[FIE=I LRUZDILEY 0.02 0.02 0.02 0.02 0.02 0.1UTF 0.02 I SHER 0.01 IR <0.0001
31[PFOSRUPFOA(* 4) - - - - 0.000006] _0.0000551 F (2) <0.000005 4[IHS51F 0. BEH <0.001
5[7%70—L 0.0 PR A <0.0003
* 1 FERKERBEESKGHODREHERETER NEEES 0.0 PR <0.0002
*2:EE 797875y 0.0 R <0.0002
* 3: HAEIEH #46(TOC)THRA 8[ILTTF L 0.0 BREH <0.0003
* 4:PFOS(RIVLINAOFIE0 XKV ER) RUPFOA(RILI LA OAZER) 9[ILFS5H0—)L 0.05 BRE <0.0005
NEEPES 0.09 A <0.0009
TOFARR 0.007 EY <0.00007
JoEarJ—L 0.05 A <0.0005
JTOEHEE 0.0 R <0.0005
4[FTaRFI—IL 0.0 REA <0.0003
5[I0ETFE 0. R <0.001
6 0.0 REA <0.0002
2= 0. BREH <0.001
B == 0.0 BREF <0.0009
9[RoVIzFvT 0.00 EELT <0.00005
00[Ro BT 0. EELT <0.002
01 [RUFA A8 0. EELT <0.003
02|V I5HLT 0.0 e <0.0002
03[ RTINSV 0.0 PR <0.0001
104]RoILt—F 0.07 PR <0.0007
105|RRFF7HE—h 0.003 B RA 0.00005
106|%5F4 (X5VY) 0.7 B RHA <0.007
107[A270yF 0.05 EEST <0.0005
108[ X3 0.03 EY <0.0003
109[*F5F )L 0.2 EH <0.002
110[*FFFA~ (DMTP) 0.004 RA| <0.00004
111[AFS/RFOEY 0.04 A <0.0004
112[ARITS 0.03 R A <0.0003
13[4z vk 0.02 R A <0.0002
114[AFa=)L 0.1 REA <0.001
115[EYR—F 0.005 B E A <0.00005




